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PLEASE WATCH THE ONLINE CLASSES CAREFULLY AND ANSWER THE FOLLOWING
QUESTIONS
https://youtu.be/Bh9LGrsbkH4 
https://youtu.be/-dl9CL5_VMQ 
https://youtu.be/tigE_FDGaOI
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1 . Average square of consecutive even numbers till 16? *

2.Average of square of consecutive odd numbers till 9? *

3.The mean of 1^3,2^3,3^3,4'^3= ? *

https://www.google.com/url?q=https://youtu.be/Bh9LGrsbkH4&sa=D&ust=1606327897904000&usg=AFQjCNEcK2y8OGEgWFolrnsRdNZ_-YQGyA
https://www.google.com/url?q=https://youtu.be/-dl9CL5_VMQ&sa=D&ust=1606327897904000&usg=AFQjCNH5WfIRJjsPLG-Z0s9BTo89YtghoA
https://www.google.com/url?q=https://youtu.be/tigE_FDGaOI&sa=D&ust=1606327897904000&usg=AFQjCNGQNchS6J5od4weVAfXZ59wD2xOOg
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4.The mean of 1^2,2^2,3^2------7^2 =? *

5.Find the average of first 20 even numbers? *

6.Find the average of first 50 odd numbers? *
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7.Find the average of first 40 natural numbers? *

8.Howmany 3 digit numbers are divisible by 7? *

9.A number is multiplied by 3/4 instead of 4/3,the result was 180.Then what will be the
real answer? *
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10.Simplify (893+786)^ 2-(893-786)^ 2/893×786 *

11.Simplify 26×26×26+3×26×26×24+3×26×24×24+24×24×24 *

12.(724)^2-(276)^2=? *
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13.Half of the one third of the three fourth of the number is 120.What is the number? *

14.9,99,999/33/3=? *

15. If a number is decided by 51,27 is the remainder.If the same number is devided by
17 then what will be the remainder? *
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16.The sum of two numbers is twice of its difference.If the small number is 60.What
will be the large number? *

17 .16-[9-{8-(7-)}]=? *

18.16^3/4=? *
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19.99099÷99=? *

20.8 1/3% of 1200+33 1/3% of 333=? *

21.Two third of half of a number is 18 .What is one third of that number? *
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22.5 table and 6 chairs cost Rs.2500 and 3 tables and 2 chairs cost Rs.1300.What is the
cost of one table and one in chair?

23.If the be difference between a number and 1/5 of it is 24.Then what is the number?
*

24.Simplify 789×789×789+211×211×211 /789×789-789×211+211×211 *
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THANK YOU

This content is neither created nor endorsed by Google.

25.Simplify. 658×658×658-328×328×328 / 658×658+658× 328+328×328 *
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